M2L2.4 Two-step inequalities Day 1 October 05, 2018

Unit 1:
A.CED.1 Solve Two-Step Inequalities

Objective Students will be able to create and use
linequalities in one variable to solve, graph
and justify problems.

You will need to understand
inequalities before you can get a
driver’s license. Look at the picture
and write an inequality for the speed
limit sign.
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are confronted with mathematical inequalities almost every day, but ¥ou

may notice them because they are so familiar.

from your cell phone, an
school.

All of these can be represented as mathe
mathematical thinking as you consider the

inequalities. And, mn fact, you use
ations on a day-to-day basis.

Situation Mathematical InpqUality N

Speed limit Legal speedsf the highway < 65 miles per hour ™\
Credit card Monlhyéyment 2 10% of your balance in that biIIingM
Text messaging N):(d:le number of text messages per month < 250
Travel time /’ﬁ”lme needed to walk from home to school 2 18 minutes

When we talk abo ese situations, we often refer to limits, such as “the speed limit is 65 miles per

lishes a boundary for what is allowable. Thinking about these situations as inequalities
provides a fuller picture of what is possible:

Addition Property of Inequality
lia b and ¢ ane real nuMbEEs fhen
a b and a+ @< bté

are equivalent inequalities.

O —
Multiplication Property of Inequality

If a, b, and ¢ are real numbers, then a < b and ac < be
are equivalent mequalities.
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Vocabulary

Inequalities: inequality is a statement that compares two
expressions that are not strictly equal by using one of the
inequality signs

A solution of an inequality is a value of the variable that makes the
Inequality a true statement.

Symbol Meaning
<

is less than
< is less than or equal to -at most; 0o movreYan
> | is greater than 5 More Phon
> is greater than or equal to-at least
< is not equal to

‘aisatleasts’ )7 "\ a2b

W

“ais less than b, axy

“ais at mosiA5;” or
“ais no than b"

Many problems, though,
than.” So how do you fi

The key is to thjak about the context of the problem, and to relate the context to
one of the sitdfations listed in the table. Context refers to the real-life situation is
which the problem takes place.

#1 not explicitly use words like “at least™sr “is less
ure out which symbol is appropriate in a given Situation?
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Solving an inequality involves exactly the same steps as when solving an
equation with the following exception:
—
If both sides of the inequality aregnultiplied (or dividedpby a
negative number; the ineguality symbol must be reversed,
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